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* terge audigres -d., de are depthe of the tuo ipotes
Smenge (O, da) = Co

Cit Seplit (da) + max ( Smenge( die. dae ), Smerge (dir, der »)
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die, dir sd, -1
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dic, + di (Cada) + co
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madlyies - I is copte of ipot wee
"so our code doesn't work, end of lecture" (?)

whoh don't know these...we

I didiedi
da) + Sinsert (ds)

Umm lets do thas and netry -

Smeart (0) = Co
Smsort (n) = C, + max (Smsort (di), Susort (ds) ) + Smerge ( di, da') + Sinsert (ds) + Srebalance (da)

i didaed-1
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§Csd? + Smsort (d, -1)

If wipet balanced ie. n=2dthen O(log'n)
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